
R L H LPR WF DMINAPMXDCON

Takım Kodu
Ordering Code
Bestell-Bezeichnung

Takım Ölçüleri (mm)
Dimension (mm)

Abmessung (mm)

Stok
Stock 

Lager
Kesici Uç

Insert
Wendeschneidplatte

Yedek Parçaları / Spare Parts / Ersatzteile
Levye
Lever

Kniehebel

Levye Vidası
Lever Screw

Kniehebelschraube

Altlık Yayı
Shim Spring

Feder für Unterlage

Baskı Pabucu
Wedge Clamp
Spannpratze

Pabuç Vidası
Clamp Screw
Klemmschraube

Altlık
Shim

Unterlage

Anahtar
Allen Key

Innensechskantschlüssel 

S32T PDXNR/L 15
S40U PDXNR/L 15
S50V PDXNR/L 15
A32S PDXNR/L 15
A40T PDXNR/L 15
A50U PDXNR/L 15

32

40

50

32

40

50

30

37.5

47

30

37.5

47

300

350

400

250

300

350

22

27

35

22

27

35

12

14

19

12

14

19

≥45

≥50

≥63

≥40

≥50

≥63

APL-03

ALV-08-M8x16

ALV-03-M8x19

ALV-08-M8x16

ALV-03-M8x19

AADN-3-0001 AAY-02 - AAL-03-3-

Takım Kodu
Ordering Code
Bestell-Bezeichnung

PDXNR
KAPR=93°

DC
ON

DM
IN

W
F

H LPR

KAPR
APMX

DNM. 1506..


